
Operation Operations                                                                                      Day 10
Skills: Expanded form, figures and words, Ordering numbers, decimal place value, understanding multiplication, 12-hour clock.  

1. The height of people in BUILD 2 classroom at the LEAD hub 

were measured 

Ebube: 𝟏𝟑𝟖. 𝟒𝒄𝒎 

Fatima:  𝟏𝟑𝟔. 𝟐𝒄𝒎 

Nabil:  𝟏𝟒𝟓. 𝟐𝒄𝒎 

Aurora:  𝟏𝟐𝟗. 𝟑𝒄𝒎 

Blessing:   𝟐𝟐𝟑. 𝟕𝒄𝒎 

Faith:  𝟏𝟒𝟖. 𝟗𝒄𝒎 

Esomchi:  𝟏𝟑𝟖. 𝟗𝒄𝒎 

a. Who is likely to be the teacher? _______________ 

b. Who is the tallest student? _______________ 

c. List the names of the students in order starting with 

the shortest  

____________________________________________________________ 

d. What is the difference in height between the teacher 

and the tallest student?  

_______________ 

2. For each set, circle the number that 𝟐 has the smallest 

value 

a.  𝟗𝟎𝟐𝟓 𝟏𝟑𝟏𝟐 𝟐𝟎𝟖𝟒 

b.  𝟔𝟒𝟎𝟐𝟓 𝟏𝟐 𝟐𝟎𝟗 

c.  𝟐𝟎. 𝟓 𝟑. 𝟐 𝟐𝟎𝟎. 𝟒 

d.  𝟎. 𝟓𝟐 𝟏𝟑𝟏. 𝟐 𝟐𝟒𝟗 

 

3. Follow these instructions carefully 

a. Draw the perfect rectangle 

 

 

 

b. Outline the perimeter with a red biro 

c. Shade the area of the rectangle with a pencil 

d. Put an 𝐎 on each vertex 

e. Put an 𝐗 on each edge  

f. Measure the dimensions of your rectangle 

Length =  ______𝑐𝑚       Breadth =  ______𝑐𝑚 

g. Calculate the perimeter of the shape  

Perimeter = _________𝑐𝑚 

4. The Flintstones TV show starts by 𝟓: 𝟐𝟎𝒑𝒎 

and lasts 𝟒𝟎 𝒎𝒊𝒏𝒔. Draw the clocks for the 

start and finish time of the show 

 

 

 

 

Start time: __________   Finish time: __________ 

5. Write these numbers in expanded form 

a. 𝟖, 𝟎𝟎𝟐: __________________________________________ 

b. 𝟗𝟔, 𝟐𝟔𝟕: ________________________________________ 

c. 𝟑, 𝟕𝟎𝟎: _________________________________________ 
 

 



Operation Operations                                                                                         Day 10 

Multiplication and Division: 0, 1, 2, 3, 4, 5, 6 and 7 tables 

× 5 8 7 10 9 1 11 12 3 2 4 6 
7             

5             

3             

4             

6             

0             

2             

1             

 

 

 

 

 

 

 

 

 

 

 

𝟒 × 𝟖 = 𝟒 × 𝟕 = 

𝟐 × 𝟓 = 𝟑 × 𝟖 = 

𝟒𝟐 ÷ 𝟔 = 𝟐𝟒 ÷ 𝟒 = 

𝟗 × 𝟕 = 𝟔 × 𝟔 = 

𝟓𝟒 ÷ 𝟗 = 𝟓𝟔 ÷ 𝟖 = 

𝟏𝟐 × 𝟕 = 𝟔 × 𝟖 = 

𝟕 × 𝟑 = 𝟕 × 𝟏𝟐 = 

𝟒 × 𝟖 = 𝟕 × 𝟕 = 

𝟐𝟒 ÷ 𝟒 = 𝟏𝟒 ÷ 𝟐 = 

𝟔 × 𝟏𝟏 = 𝟔 × 𝟖 = 

𝟔𝟑 ÷ 𝟕 = 𝟓𝟒 ÷ 𝟔 = 

𝟐𝟑 × 𝟖 = 𝟓 × 𝟕 = 

 

 𝟗 𝟒 𝟖 
× 𝟕 

 
 

 𝟗 𝟒 𝟐 𝟖 
×   𝟐 𝟕 

 
 

 

 
 

  𝟒 𝟕 𝟖 
×   𝟏 𝟔 

 
 
 

 

 𝟐 𝟑 𝟕 𝟑 
×   𝟗 

 
 

𝟐𝟕

𝟗
= 

𝟒𝟎𝟓

𝟑
= 

𝟔𝟑𝟐

𝟑
= 

𝟑𝟔𝟗𝟖

𝟔
= 

𝟑𝟎𝟏𝟎

𝟕
= 

𝟐𝟎𝟒

𝟏𝟐
= 


